Bryan Berns

CS 577

Homework 1

Problem 1 (Exercise 4, Page 24):
a. State the problem as a graph problem:

b. Does this problem have a solution?  If you believe it does, draw such a stroll; if you believe it does not, explain why and indicate the smallest number of new bridges that would make such a stroll possible.

I do not believe it has a solution, and a few web pages confirmed that with me.  Looking at it, we can see that even node has an odd number of outputs.  This gives rise to a problem: if we must start at a node, then visit another node with three nodes, and then leave that node once more, there would be no way to revisit that node to ‘finish’ the last bridge.  
You would only need two more bridges to break this cycle:



Problem 2 (Exercise 5, Page 25):

Problem 3 (Problem 10, Page 39):

// Some pseudo code for anagram checking.

// 


// As a side note, I believe this is a very efficient algorithm if memory accesses


// aren’t a bottleneck.  It would compile into very few instructions.


//


{


MAKE array of 26 integers and initialize all values to zero



IF length of string one does not equal length of string two RETURN FALSE



IF strings are the same RETURN FALSE


FOR each character in first string {




Add one to array[character index+] of 26



}



FOR each character in second string {




IF array[character index] equals zero RETURN FALSE exists in array



ELSE subtract one to array[index of character]


}



RETURN TRUE


}
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